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L\‘ ) Atomic Energy Education Society
Imaftraw QT / Perlodic Test Iy (2024-25)

TR Class :X 3aW/Duration :3 T/Hours
RwT/Subject :English ANFAA A/ Maximum Marks :30

WA T / General Instructions:
Details and instructions :

1. 15-minute prior reading time allotted for Q-paper reading,
2. The Question Paper contains FOUR sections-READING SKILLS, WRITING SKILLS,
GRAMMAR and LITERATURE TEXTBOOK.
3. Attempt questions based on specific instructions for each part.
SECTION A: READING SKILLS (22 Marks)

L. Read the following passage
Al Can you imagine a college without walls, professors or classrooms? Educator Bunker
Roy can. More than 40 years ago, Roy, now 79, founded the Barefoot College in
Tilonia, Rajasthan. His school admits rural women, often grandmothers and teaches
them the basics of solar engineering and freshwater technology. His efforts have
yielded enormous benefits. When the women return to their homes, they are trained
enough to provide their communities, some of the world’s most lonely places, with
electricity and clean water. They also gain something important: a newfound self-
confidence.

B. The Barefoot model has already been used to empower women throughout Asia,
Africa, and Latin America. Former President, Bill Clinton presented Roy with a
Clinton Global Citizen Award, which honours leaders who are solving the world’s
problems in effective ways. If you go all over the world, to very remote villages, you
will often find only very old people and very young people. The men have already left.
So two ideas were put into practice in order to make the Baref:oot Model work.
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First it was declared that men are untrainable, restless, always ready to move,
ambitious, and they all want o certificate g show for lhmﬁ F'qus And the moment you
give one of them a certificate, he leaves the village looking for a _]Ob in the city. That is
how, the simple, pmcucnl solutlon of trammg grandmothers came up. They are
sympathetic, tolerant, willing to leam, and patient. All the qualities you need are there.

And the second"idea was not to give out certificates. Because the moment a certificate
is given, a woman, like 2 man, will see it.as a passport for leaving rural areas and going
to urban areas to find a job.

Barefoot College follows the lifestyle of Mahatma Gandhx Students eat, sleep, and
work on the floor. They can work for 20 years or they can go home the next day As of
today, 604 women solar engineers from 1083 villages in 63 countries have been
trained. The engineers have given solar power to 45,000 houses. These were done by
women who had never left their homes before. They hate the idea of leavmg their

families and getting on a plane. When they reach India, sometimes after 19 hours of
travel, they are faced with strange food, strange people,

and a strange language. All the
training is done in sign language. ‘

Yet in six months, they will know more about solar engineering than most university
graduates. Some women face’ problems at home for attending college. Most of the

husbands do not like their wives going to these colleges and tell them not to comme back

if they do so. But, on her return when she 15 able to help provide her village with solar-

electricity, her husband wants her to get back home. The respect she now has is
enormous and she cons1ders herself no less than solar engineers. Bunker Roy dreams
of providing the world’s 47 least-developed countries with Barefoot College-trained
grandmothers and also to s‘olar—electrify_ more than 1,00,000 houses. -

Answer the following questions, based on the passage above.

i.

il

iii.

Why did the promoter of Barefoot Model decide to train grandmothers? 1)
(a) Men do not want to be trained. '

(b) Grandmothers were patient, willing to learn and tolerant.
(c) Men are lazy, want to make money.

(d) Men and women are not skilled.

How is Barefoot College different from other colleges? Whom do they admitin ()
the college?

What did the women gain from the college apart from technology? | 6))
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iv. What are the difficulties ihe women have to fiyes during theie fry {
N N V‘e

life in Tilonia, Rajasthan? e =

V. Find a worg from the Passage which meanq the snme 44 the follawin
5N following:

(1) many/great in sise (para A) ) "
Wi, Find a worg from the passage which §s

i\ | passag S AN antonyim of ennlqve/nnhjugm»'( para (1,
Vi, The attitude of the husbands to their wives on their return from training iy (1

different becayge | -

(1) of the Tespect they gain from the villagers

(ii) they were away for a long time

(iii) they wil again be looked after

(iv) they will hot go back
Vili.  Whatis the narrator’s dream about solqr electrification? (D
1x. How do the women consider themselyeg professionally, after their training? (1)
X Assertion: The Barefoot College mode] effe

tixc;ly €mpowers rural women by (1)

grandmothers instead of younger men
because grandmothers are more likely to remai

skills locally,
jobs.

n in their villages and use their
avoiding the common problem of trained men leaving for city

_ Choose the correct option:
A. Both Assertion and Reasoning are true, and the Reasoning is the
correct explanation for the Assertion. :
B. Both Assertion and Reasoning are true, but the Reasoning is not the
' correct explanation for the Assertion,
C. The Assertion is true, but the Reasoning is false,
D. The Assertion is false, but the Reasoning is true.
2. Read the following passage and answer the questions that follow,
A. Reduction in green areas has caused various environmental problems. People squeezed
between concrete structures are looking for various ways to meet their longing for green.
One of the ways to do so is through vertical gardens and green walls. Vertical gardening is

a unique method of gardening where plants are grown in a vertical position or upward,
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ground.
from the studies of different

is to close the cold image of
nature and structures are
have become intertwined.

ty ghould be in the
made as aesthetic

ting them 0P the
which arises

ctc.)

n the traditional method of plan
green walls,

hitects, engineers,
c systems,

rather than 1
The purpose of vertical gandens and
8, AIC
value. In thes

and thus, urban areas and the desired environment '
at, though functionali

ed, they are generally
and decorative elements in residences,

disciplines (landscape architec!

conercte and increase s visual

integrated,
Vertical ganden case studics often show th
fureground, when vertical gardens arc plann
clements in the city’s underpasses and city squares,
without seeking functionality.

Experts support that the visual quality and evaluatio
determined based on the satisfaction of the users. Hence,

n of landscape architecture 18
a survey quesﬁonnaire was
The given Table 1,

prepared for residents of varied age groups from of a metropolitan city.
displays these responses:
Table 1- Total number of participants :400 ]
No. | Survey Statements Strongly | Agree | Neutral | Disagree Strongly
agree Disagree
1 | Improve quality of life of | 191 138 |43 9 19
people in urban areas
2 Reduce noise pollution | 128 164 |77 25 6
Increase air quality 172|147 |51 |28 12
indoors and outdoors
4 Reduce energy and water | 58 47 | 125 68 |2
consumption
5 | Positively impact global | 114 | 144 |106 |30 6
warming
6 | Havea calming and 161 177 |44 7 11
relaxing effect '
7 Cost too much 86 107 152 42 13
Make plants look i
-P o 195 139 4 ' |6 16
beautiful _
9 Add naturals to th 3
; e 135 173 55 25 12
environs
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10 | Determining factor to s 193 {141 |54 13
visit a place
11 |Aw numwenuciiﬁﬁfloﬁ? 9 84 123 126 48
12 | Can be npplicd in any 71 132 |97 77 23
place
13| Have a functional feature | 81 207 100 10 2
14 | Distract drivers 34 101 106 131 28
15 | Funds are best used for | 57 72 100 130 41
social issues N
Answer the following questions, based on the table above.
. i. Complete the following analogy appropriately, based on your understandjng of (1)
p'aragraphs 1 &2. :

We can say that the situation of people living in concrete structures is
comparable with a fish living in a fishbowl, and the need for vertical gardens to
the need for decorations in the ﬁshbowl because

ii.  Justify the followmg, in about 40 words. - 6))
While the survey. results suggest that vertical gardens may be eﬁ'ectzve in ’
improving the quality of life in urban areas, further research and evaluatzon may
be necessary to fully understand thezr effectiveness and potential drawbacks

iii.  Select the option that correctly dlsplays what ‘intertwined’ signifies. (reference — (1)

& [

® (ii) i | @ v)

1. (i), (iv) and (v)
2. Only (ii)
3. Only (iii)
4, (ii) and (v)
iv.  Fill in the blanks with the appropriate option from those given in brackets, based  (2)
on your understanding of para 2.
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Vviii,

The statement that urban spaces have become more closely connecteq With 4,

desired natural surroundings through the incorporation of nature and SHUCte

inverticql gardens and green walls is a ____ (fact/ opinion) because itis, A
———(subjective judgement/ objective detail). —_

Which of the following is the main takeaway from the study mentioned in the 1y
Passage?

A Vertical gardening has minimal impact on the environment or humap, well
= being,’

B. Verticq] gardening is a sustajnabje practics that can transform urban
Spaces intq Breen areas, - |

C. The impact of vertical gardening on the environment and human wej] \
i \

dpéofﬁce@school.cbm
Sept 13, 2024, 07:03 pag
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4.

Sb.

6a.

6b.

Write a brief description of your best friend in minimum 100 words using the
following hints,

Daniel Samson - belongs (o a noble family — father Professor — mother
Principal - well behaved — respectful — ready to help —intelligent — an orator =
trustworthy — popular — among class fellows — feel pride - associated with him.
You are the Librarian at Devi charitable school, Lucknow. Place an ord
school books and other story books for the school library with Chitrakoot book
shop, Mall road, Lucknow. (word limit -120 words).

OR

You are Rajat, Rani, a student of Class XI1I and wants to pursu
e Dean, Institute of Mass

e a course in Mass

Communication. Write a letter in 120-150 words to th
secking information about’ the course

Communication, University of Delhi,
fee structure, hostel facilities, placement

admission procedure, eligibility criteria,

opportunities, etc.
High-tech devices in modern society has revolutionized communication and
health concerns and

productivity. However, the potential negative effects, such as
environmental impacts are alarming,

Using your own ideas and those taken from the unit “Science
180 words, desc:j?ing both the benefits and harms of using the

devices. Conclude with suggestions on how to mitigate these harms and promote

» write an article in
se high-tech

the responsible use of technology.

OR

On the occasion of World Health Day, write an article in about 150 words for the
school news-letter on the topic, ‘Importance of Physical Health in Our Lives’,
using the clues given below.
Hints:

e Healthy mind lives in a healthy body.

o Lack of time for physical activity because of the demands of modem

lives. '
o Ignoring the health increases the risk of many diseases.

o Discipline is the key to resolving these concerns.
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7. Complete the tasks A-C, ns directed. X
A, Fill the blanks (i) -(iii) with the appropriate option from thos
Two friends were walking (n) ( through/ from /by ) @ dese

the joumey they had an argument, one friend slapped the (b)__——

neither ) one on the face, The one who got slapped (c)

SECTION C : GRAMMAR (10 Marks)

Without saying any thing wrote in the sand.

. 7 i ‘ 4
B. In the following passage one word has been omitted in each lm‘_’ e ::i: ®
missing word, in any four sentences of the given paragraph, along with the ¥

®

(i)

¢ in the brackets. (3)
rt. During some point of

( another / other /

. (were / is / was ) hurt, but

that comes before and the word that comes after it in the space provided .

No. | Text Before | Missing word | After 0
(i) | Himachal Pradesh a good place for Eco Camp.
(ii) | Pine Hill Eco Camp is one of ccotourism
resorts
(iiif) | near Barog Himachal Pradesh. Ecotourism is
(iv) | gaining popularity each passing day as more T i
(v) | and more People want to get away from the
hectic schedules.
Do as directed. B o ®

Rearrange the following jumbled 'wordslphrases in the given dialogue to (1)
create a meaningful sentence. )

The use of renewable énergy sources can significantly reduce our carbon

footprint. I agree. What are some examples of renewable energy sources?" »
SOLAR ENERGY / WIND ENERGY / AND / HYDROPOWER /

EXAMPLES / ARE / OF/ RENEWABLE ENERGY SOiJRCES.’ .

Report the following dialogue to complete the paragraph:

(1+1)

Manager: "We need to discuss the new project requirements in detail.”
Employee: "When should we schedule this meeting?"

Manager: "We can meet tomorrow afternoon."

Complete the paragraph by repdrting the dialogue:

The manager stated that they (a)

should schedule that meeting. The manager replicd that (b).

following afternoon.
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SECTION D: LITERATURE TEXTBOOK (26 Marks)

A Read the given excerpts and answer tho questions bricfly, for ANY TWO  (++9)
excerpts, of the three, given,
A Neither stones nor prayers nor sticks,
Insults or complaints or bricks
Stilled the frog s determination
To display his hearts elation. (The Frog and the Nightingale)
i.  Atwhom the stones were thrown? @
ii.  The frog is determined to @
{ii. Which figure of speech is used in Line 1? | ‘ @
iv. What is the rhyme scheme of the above exﬁaét? | @
B. VICTORIA: (afiera ﬁamen 1% thought;): Are we pinching it before 4unt Eli;abeté
comes? & =
HENRY: (shocked) No, my child. Grandpa gave it 1070K0 mother before he 46
VICTORIA: ﬂus morning 7 ‘
HENRY: Yes. |
i  What dbes ¢it* refer to hérc? ’ ®
ii. How does Vicky get to the conclusion that her parents ar¢ ‘pinching it’? 1)
sii.  What does it say about the disparity between Vicky’s attitude and that of the @
elders?
(1

eans )
bedside of a girl of about 20, who prop

to their chatter, her eyes soft and

iv. Thephrase ‘pinching in’ here m
ped up on

C. The two boys were seated at the

pillows wearing a pretty lace jacket, was listening
tender.
i,  Who are the two boys referred to here? )
ji. Where are the boys at present? )
Who is the gitl? ¢))
M

iv. 'Why was she propped up on the pillows?
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iii.

iv.

10.

¥ 30- 40 words
Answer ANY FIVE of the following six questions fn about

cach
) flect about  (2)
Who was Ozymandies? What do the words writien on the pedestal 1€
o :
Zymandias? @)

false
What does the writer wish to convey via the use of the metaphor fora

friend in the given line from The Letter?

-.the cold used sleep to extend its sway over all things even as afalseﬁ'ieﬂd

lulls his chosen victim with caressing smiles.

What does Mrs Jordan describe as a fatal mistake? What is the irony in the @

comment she makes on Mrs Slater’s defence? @
Why did Mrs. Packletide decide to give a party in honour of Loona Bimberton ()

? What did she plan to present Loona on her birthday? :

How will the poet’s friend and patron find a permanent place in the hearts of @

coming generations and lovers? (Not Marble Nor the Gilded Monuments)

Whom did the mariners blame for such an omen condition? How did they @
punish him?
Answer ANY ONE of the following two questions in about 150 words. ®

In both "The Dear Departed" by Stanley Houghton and Vikram Seth's poem "The
Frog and the Nightingale," the themes of manipulation and exploitation are central.

Compare and contrast how manipulation is depicted in both works.

OR
“Only the wearer knows where the shoe pinches”. Elucidate the statement with ’))
reference to the story The Letter.
ekt
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Atomlic Energy Education Soclety

Jmafiys qw/ Periodic Test-IT (2024 - 25)
TR / Class : 10 33/ Duration : 3 G
R /Subject- Y (Ffchwr wmm) fFaw & / Max. Marks : 80

LI ﬁ'c’f!l' | General Instructions:

1.wmm#wmt-mw.'w.w\aﬂt'a|
2. wya & IRE wvsl #F Fa weal A F&awr 15§ Ak woft g afad § |
3. Iy W WAl ¥ 3w FARER AR |

G s-F (3rafed ah)

(e -1) fa=faRe Tgir f gax AR B v wat F 35w [Rw-

FAR o AN A T A & 93 AT F Heor fFar aas § S TeaEs,
G, AFICIRAFAT HE HT Iegial T-HAIT o T g6 faviy Rmar o el &
et 76T §9 S 379 HHICT i Y 1T Toh| FAR 7 AT ol 3T T 6 37%
A fe B AT Toerd o & =1t | 50 &R 3ecier TSt T oot ) qusat #
fATe-fAFea G FHA TTT| 39T A1H (@I IR B ST arel & adAdhel de
wap! fe@me | {-gfeiel i I IoT 1 39U & 39 AFcAed H GUR X TG
A T Al A T R Raeidr a1 fawgor ) #, dar, sfar o feEor
AT & YR AT FH-F103 qur Ffvar # R R s arfgat, @it g
el Y Sedrel FHr AT I TWH TaF A T AT ATHTE @ell| 37 oK FER
= GH-AYATET TTSCHIVT HUATAT I FYA-FeA T Uohell T Tl M| & FgTeT Foreser,
FAIS-YURF a1 7T F1 A1 Fogier ReqeAfees & 0 goaa 6 uRT vk
grat 1 g frerar wer |

(30 gt 9% amUTRE AR o agREed et % 3R BRI | (1x3<3)
1, FdR fora #fFT-A" 71 9OR a2
@ @O (@) A () @ dor  (a) s g et
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2, TR F R & 7ew w7 eRewpior smwaman
(@) AT (1) Freaady (@) RERE

3. 1, Qa, IR U ROT A & R gt @ A
(%) Toie e (@) FEW (1) qEerw  (9) AREs

() FHTTETAr

(@) e | IMUNT I [/ weat F 3av AR
1.FER & GATS & @ TR Te R fRam?

25K PiT A

(2x2=4)

(“3-2-)mmmmﬁﬁwﬂwqmwwm“ﬁtm '

AT

T TN AT | AR |

W e

T A & fFar =R |
& UH &aer | AFEHR |
SeA-Brege & g Fel
TR R B,
W-afr &1 3a=r 78 &
et wrott & ghar weer |
HH-AHT & I W A o,
o5 dae & fawm,
aet-gEt #H G W,

Hi-at =t & & T |

g & @ T U,

Ig I Y § Gae 4N |
& IH aar | AR !

Herger 30T foree Fae §
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W U T Aftr-ug
oot ey fr gz 3,
TF a7 3% & § was |
St & arfeier w g o
o, ast g a1 fF & |
ST & & 81 JUER,
ST NG T FdT &3 |
IS SHE T IR,
T Y J ToGER |
& T A& | ATFR |
() R 1 FR F aar =t wr &2 (1)
() T g # oK R A & Ao
(@) 33 Tor-Srrel 3 T et F 9T s ¥ o)
() VAT F T W B F 97+ F FRO7)
(&) 39 AT 3 39T A R & I S F FROT|
) B & o 7 oo g | m
(@) 3T ¥ 4R T G Qo
(@) Wt & Tge-gge gl
(1) FET A FT Q- Wl F Fgel|
(&) ver & aut ¥ FeeEr
(iii ) ‘foreTeT ¥ TICW W A WIST @ § g A9 T dfaat i amar §2 (1)
(%) WA & g g
g s ¥ R @)
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(wea-5) P ot F ¥ At W) Yaifve o3t W oo ffe -
(1x4=4)
(1) dRr e s o gl ¥
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(@)EsTastals @ B
(5) 'T=2 A= F VT W® A
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I (NGATF T [ NSATHF )
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Resw RRAT - (1x5=5)

Fifde I AG B SR ST fr wenfeRl I §E,S WA dF el Fcd
5 Relt o TR & Ioq| 7 I B IF S E AQN-TAA B S, M A
#er Y T8 ¥ Fg-aie dled AR aifa F A & TW & 3T B W AT G
A &5 S A I T S R F qF ¥ & K A Aevren § ooy,
et A $r 37 &fd Frefhemaret #R # #r 3o Hefla {3 D W o T v |
33l A F At & Qe g et A o [a A Ny o a1 Ao [ wifor
F YF AN AR ToT W T | YA,FMELE W W FE o7 @A | ;W
aTATERYT 3ol I8 & G ATH IS AT | 36 EEAT IR0l § 0 IR0 A
Teré W G e I FAN NG AT wae I G B 3 & | 3o
HF & arect F1 afar o a3 S W W RnaR I v o |
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/ Atomic Energy Education Society
3rafra e / Periodic Test-11 (2024 — 25)

SN

R/ Class : X 3raf&t/Duration : 3 HOURS
A7 / Subject :Mathematics N HdA3H/Maximum Marks: 80

WA fA&/General Instructions:

1. This Question Paper has 5 Sections A-E.

2. Section A has 20 MCQs carrying 1 mark each.

3. Section B has 5 questions carrying 2 marks each.

4. Section C has 6 questions carrying 3 marks each.

5. Section D has 4 questions carrying 5 marks cach.

6. Section E has 3 case based integrated units of assessment (04 marks each) with sub-parts of the values

of 1, 1 and 2 marks each respectively.

7. All Questions are compulsory. However, an internal choice in 2 Qs of 5 marks, 2 Qs of 3 marks and 2
questions of 2 marks has been provided. An internal choice has also been provided in the 2marks
questions of Section E .

8. Draw neat figures wherever required. Take m =22/7 wherever required, if not stated.

SECTION 4 _(1X20)
1 The exponent of 2 in the prime factorisation of 144, is ' [1]
a4 b2 c)6 d)1
2 Ifthe HCF of 65 and 117 is expressible in the form 65m — 117, then the value of ‘m’ is 1]

a)3 b)1 c)2 d) 4

3 The zeroes of the quadratic polynomial x* + 5x + 6 are 1]
(2) both negative (b) one positive and one negative
(c) both positive (d) botk equal

4 A quadratic polypomial, whose zeros are S and - 8 is 1

a) X2 + 4x - 3 b)x2+3x- 40 c)x®+13x- 40 d)x%- 3x- 40

Page 1of 8
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10

11

12

13

Graphically, the pair of lincar equations 3x « y 1 §=0and3x- ¥~ 24 represents two

lines which ane:

Q) intersecting exactly at one point b) intersecting exactly at two points

<) cotncident d) parallel

For what value of k, do the equations 3x —y + 8 = 0 and 6x —ky =-16

represent coincident lines?
a) =2 b) 2 0)—3 d3

A quadratic equation ax? + bx + ¢ = 0 has real and equal roots, if
a)b?- 4ac=0  b)b%- dac<0 c)b?- dac>0  d)b%- dac#0
The discriminant of 4x2 +3x—-2=01is

a)- 23 b) 41 939  d)-31

\

-5 5
The 11th term of the AP: —-5,?, 0,5 T

a) 30 b) 20 c) 30 d)20
If the common difference of an A.P. is 5, then the value of a,- a3 is
a) 35 b) 25 c) 40 d) 30

fin A ABC and AP h A5 _5_4 th
Ifin an QR, we have QR_RP_'PQ en

a) ABCA~APQR b)APQR~AABC c¢)AQRP~AABC d) ACBA~APQR

If in AABC and ADEF, g = % , then AABC ~ ADEF when

a)2.B=¢E b)2B=4D c)LA=2LF d)2A=2D

D and E are ‘respectively the points on the sides AB and AC of a triangle ABC such that
AD =2 cm, BD =3 c¢m, BC = 7.5 cm and DE|| BC. Then, length of DE (in cm) is

a) 6 b)5 c)2.5 d)3

Page 2 of 8
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16

17

18

19

20

In what ratio does X = axis divide the line segment joining the points A(2,
B(S, 0)?
a)yl:2 HREN c)2:1 d)2:3

The distance between the points (c, 0) and (0, - ) is:

8)2cunits  b)cunits  ¢)cv2units  d) 2Vc units

< 3)and (1]

(1

If the distance between the points A(4, p) & B(1, 0) is 5 units, then the value(s) of p is/are  [1]

a) 0 b) 4 only c) - 4 only d) +4

The zeroes of the polynomial the 3x? - 5x - 2 are [1]
1 -1 -1 1

a).3- »2 b)? »2 C)? :'2 d);s'z

The LCM of the smallest odd composite number and the smallest prime number is [1]

a)l b) 10 c)18 d)4

Assertion (A): The graphic representation of the equations x + 2y =3 and 2x +4y +7=0 [1]

gives a pair of coincident lines.

Reason (R): The graph of linear equations a; x+b; y+c;=0anda, x+b, y+c,=0

- 2 e A o a b. [5
gives a pair of coincident lines if = = =% = 2
a; by ¢

a) Both A and R are true and R is the correct ¢xplanation of A.

b) Both A and R are true but R is not the correct explanation of A.
c) A is true but R is false.

d) A is false but R is true.

Assertion (A): Common difference of the AP - 5, - 1,3,7,..is4.

Reason (R): Common difference of the AP a, a +d, a+ 2d, ... is given by
d=2"term- 1 term.
a) Both A and R are true and R is the correct explanation of A.

b) Both A and R are true but R is not the correct explanation of A.

¢) A is true but R is false.
d) A is false but R is true.

Page 3 of 8
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25

26

27

28
29

SECTION B_(2X5) o S

’ . : lzl 9 ‘m&\l

Explain why 7% 11 x 13 + 13 isa composite number. ¢

- { i i t: ‘(

Find out whether the following pair of lincar equations are congistent or inconsisten [2] . g\
@

SX- 3y=11,- 10x + 6y =- 22

OR

The difference between two numbers is 26 and one number is three times the other. Find

the numbers,

Solve the quadratic equation using quadratic formula: 2]

322 - 2V6x+2=0

In the figure, altitudes AD and CE of A ABC intersect each other at the point P. Show [2]
that: AAEP ~A ADB

Find the value(s) of y for which the distance between the points A(3,- 1) and B(11,y)is  [2]
10 units.
OR
In what ratio does the point P(-4,6) divide the line segment joining the points A(-6,10) &
B(3,-8)? )
SECTION C (3X6)

Show that. 5—+/3 is irrational. 3]

Find the zeroes of the polynomial 4x? +5 vZ x - 3 by factorisation method and verify the  [3]

relationship between the zeroes and coefficient of the polynomial.
The sum of two numbers is 27. If their product is 182, find the numbers. 3]

One root of the quadratic equation 2x% - 8x- k=0 is g Find the value of k. Also, find [3]

the other root.
OR

Find two consecutive odd positive integers, sum of whose squares is 970.

Page 4 of 8
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33

34

The sum of the 4™ and 8™ terms of an AP is 24 and the sum of the 6™ and 10 terms is 44,
Find the first three terms of the AP.
1(the point C(- 1, 2) divides intemnally the line segment joining A (2, 5) and B( x ,y) in the
watio 3:4, find the coordinates of B,

OR
Find the co-ordinates of the point on y- axis which is cquidistant from the points A (5, - 2)

and B (- 3, 2).

SECTIOND (5X4)
Draw the graphs of the pair of linear equations x —y +2 = 0 and 4x — y — 4 = 0. Calculate

the area of the triangle formed by the lines so drawn and the x-axis.

A train travels 360km at a uniform speed. If the speed had been Skm/h more, it would
have taken 1 hour less for the same journey. Find the speed of the train.

A spiral is made up of successive semicircles, with centres alternately at A and B, starting
with centre at A, of radii 0.5 cm, 1.0 cm, 1.5 cm, 2.0 cm, . . . as shown in figure below.

What is the total length of such a spiral made up of thirteen consecutive semicircles?

(Taken=2 )

OR

The sum of four consecutive numbers in an AP is 32 and the ratio of the product of the
first and the last terms to the product of the two middle terms is 7: 15. Find the numbers.

Page 50f 8
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find EC in given figyre ;;
35 State and prove Basic Proportionality Theorem and hence

DE )| BC.

%0
\ Vo
»
1 <
1.5 em I em o
D B
Jem
B C
OR
In the fig 6.13, OB is the perpendicular bisector of the line segment DE, FA 1 OB and g
Intersects OB at the point C, Proye that ol + % % \
D
E
G A 8

2. Represent algebraically the situation in hall
3. What is the

batch A & batch B were held 0

tel in two S€parate halls “Rose and “Jasmine”. The rents

[1]
“Jasmine”. []
fixed rent of the halls?

OR 2]

Find the amount the hotel charged per person,

Page 6 of 8
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Ryan, from a very young age, was fascinated by the twinkling of stars and the vastncss of
space. He always dreamt of becoming an astronaut one day. So he gtarted to sketch his
own rocket designs on the graph sheet, One such design is given below.

] >N
&
Based on the above, answer the following questions:
(i) Find the mid-point of the segment joining ¥ and G. [1]
(ii) Write the coordinates of D. [1]
(iii) (a) What is the distance between the points A and C? [2]

OR

(b) find the coordinates of the point which divides the line segment joining the
points A and B in the ratio 1:3 internally.

Page 7 of 8
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store
.+ honey bees to
vira saw n honcycomb and asked her honcy

7

While playing in a garden, Sam e
> om

honey. Also, she told her that the shape of the honcyc ‘

¢ honeycomb 15 shown

‘s

mcd is @ mathematical

in the graph.

stucture. The mathematical representation of th

: ; jon
Based on the above information, answer the following quest

(i) How many zeroes are there for the polynomial represented by the given graph ?  [1]
(i) Write the zeroes of the polynomial. [1]

(iii) (a) If the zeroes of a polynomial x* + (a+ 1) x + b are 2 and 3, then [2]
determine the values of a and b.
OR

(b) If the square of difference of the zeroes of the polynomial x + px + 45 is
144, then find the value of p.

Fk¥
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k 2 Atomic Energy Education Society
‘ 3maftie SR / Perlodic Test II (2024-25) ¢

FE Class: X 3raff/Duration:3 E¢/Hours
fAw@/Subject: SCIENCE 3T WF/Maximum Marks:§0

T A% / General Instructions:
Read the following instructions very carefully and strictly follow them:

(i) This question paper comprises 39 questions . All questions are compulsory.
(ii) This question paper is divided into five sections- A,B,C,D and E
(iii) Section A-Questions No . 1 to 20are Multiple Choice Questions. Each question carries
1 mark.
(iv) Section B-Questions No. 21 to 26 are Very Short Answer type questions .Each-question
carries 2marks . Answer to these questions should be in the range of 30 to 50 words.
(v) Section C—Qucshons No.27 to 33 are Short Answer type questions .Each question
carries3 marks Answer to these questions should be in the range of 50 to 80 words.
(vi) Section D-Questions No. 34 to36 are Long Amswer type questions .Each question
carriesS marks . Answer to these questions should be in the range of 80 to 120 words.
(vii) Section E-Questions No. 37 to 39 are of 3source - based / case-based units of
assessment carrying 4 marks each with sub-parts.
(viii) There is no overall choice. However, an intemal choice has been provided in some
sections. Only one of the alternatives has to be attempted in such questions.
SECTION A (1x20=20)
Select and write the most appropriate option out of four options given for each of the qucstion

no. 1 to 20 . There is no negative marking for incorrect response.

1. Fe;05 + 2 Al --mmemeees > Al,O; +2Fe
The above reaction is an example of a
(A) combination reaction (B) double displacement reaction
(C) decomposition reaction (D) displacement reaction
!
Pagelof9
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2. In onder 1o balance the following chemical equation, the valucs of the coefficients x and y
Tespectively are
XPb(NO3), +Heat 2PbO + yNO, + O, '
(A)2,4 (B)2 2 (C)2,3 (D)4,2
3.

When zine reacts with sodium hydroxide, the

product formed is:
(A) Sodium oxide

(B) Sodium zincate
(©) Zinc hydroxige (D) Zinc oxide
4. Select the correct option from the following: ' .
— .
Salt Parent Acid Parent base Nature of salt
T — P NaOH Neutral
B | Sodium carbonate H,CO; | NaOH Basic
\K = . 30 .
C | Sodium chloride HC1 NaOH Acidic
\\ =
D Sodium nitrate LHNO3 NaOH Acidic
—\—\5— — = = =
S.

10 mL of a solution of NaOH is found to be completely neutralised by 8 mL of a given
solution of HCI . If we take 20 mL of the same solution of NaOH, the amount HC1 .
solution (the same solution as befo

Te) required to neutralise it will be
(A) 4mL (B) 8 mL ©)12mL (D) 16 mL
6. Sphincter muscles are present at the exit of:

(A) Stomach and small intestine (B) Stomach and anys
(C) Small intestine and large intestine (D) Oesophagus and stomach
7. During vigorous exercise, the occurrence of ¢

ramps in the outer muscles of an athlete
is due to the conversion of pyruvate to :

(A) Glucose (B) Ethanol (C) Lactic acid (D) Lactose

8. Plants which bear unisexual flowers are :
(A) Mustard and Papaya . (B) Hibiscus and Watermelon ' »
(C) Mustard and Hibiscus (D) Watermelon and Papaya

9. A plant growth inhibitor hormone which causes wilting of leaves is called:

(A) Auxin (B) Cytokinin (C) Abscisic acid (D) Gibberellin

Page 2 of 9
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10. The anther containg

(A) sepals (B) ovules (C) carpels (D) pollen grains
11. Colour \;f sky appears blue, due to the
(A) atmospheric refraction (B) presence of plants in water
(C) seattening of light (D) none of these
12. Which of the following controls the amount of light entering the cye
(A) pupil (B) iris (C) comca (D) lens

13. If an object is placed at Focus of concave lens, the image is formed due to concave lens
(A) at infinity (B) within focus (C) beyond focus (D) twice the focal length
14. The change of focal length of cyc lens is caused by the action of the
(A) ciliary muscles (B) iris (C) comea (D) pupi!
15. Name the type of image that can be obtained on the retina .
(A)Real and erect  (B) Virtual and erect  (C) Real and inverted (D) virtual and inverted
16. A student determines the focal length of a device X, by focusing the image of a far off c:bject on

the screen positioned as shown in the figure below: '

The device X is a:

?

(A) Conyex lens (B) Concave mirror  (C) Concave lens (D) Convex mirror

Page 3 0of 9
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- one labelled Assertion (,
For Questions Numbers 17 to 20, two statements are given )

to these questions from ¢y, ‘
the other labelled as Reason (R). Select the correct answer 5 o
(A) (B), (C) and (D) as given below:

1

(A) Both Assertion (A) and Reason (R) ace true, and Reason (R) is the correct
explanation of Asscrtion (A). .

Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of Assertion (A).

Assertion (A) is true, but Reason (R) is false.

@)  Assertion (A) is false, but Reason (R) is true

®)

©

17 Assertion (a); Hydrochloric acid helps in the digestion of food in the stomach. - A

Reason (R): Hydrochloric acid creates an acidic medium to activate protein digesting

enzymes,
18.

2

Assertion (A): When bacterium divides into two, and the resultant two bacteria

divide again,, the four bacteria produced would be almost similar..

DNA copying involves small inaccuracies in the reproduction
Process.

Reas&n ®R):

19

Assertion (A): The phenomenon of scattering of light by the colloidal particles gives rise to
Tyndall effect,

Reason (R): The colour of the scattered light depends on the size of the scattering
Pparticles.

20.  Assertion (A): Nerve impulse isa one way conduction,

Reason (R): Nerve impulse is directly transmitted from dendrite to axon terminals. )

SECTION B (2 x6= 12)
Questions no. 21 to 26 are very short answer type questions.

21. (a) What is observed when aqueous solutions of potassium jodide and lead nitrate

are mixed together ? Name the type of reaction and write the chemical equation fo
the reaction that occurs. @

OR

Page 4 of 9

G Scanned with OKEN Scanner



@

(b) When copper powder is heated in a watch glass, a black substance is formed.

(i) Why is this black substance formed? Name it.

(ii) How can this black substance be reversed to its original form? ’
22. A solution of a substance “X” is used for white washing, ’

(i) Name the substance “X"” and write its formula.
(ii) Write the reaction of the substance “X" named in (i) above with water. 2)

23. (a) We need to water the soil in plants on a regular basis. But it ultimately reaches the leaves of

the plant. Explain how this takes place. V)

OR
(b) Name the type of nutrition exhibited by Amoeba. Explain how food is taken in and digested

by this organism.

24. Name the part of brain which is responsible for the following actions: (V)

(i) Maintaining posture and balance

(ii) Beating of heart

(iii) Thinking

(iv) Blood pressure
25. With the help.of a diagram, show recombination of the spectrum of white light.  (2)
26. Why do we prefer a convex mirror as a rear-view mirror in vehicles? |, (2)’

SECTION C (3x7=21)

Questions no. 27 to 33 are short answer type questions.
27. (a) Why does distilled water not conduct electricity whereas rain water does?
(b) Why do acids not show acidic behaviour in the absence of water?
(0) Plaster of Paris should be stored in a moisture -proof container. Explain why? (K)]
28. What are the three products of ' Chlor- akaliprocess'? Write one commercially or industrially

important material each that can be prepared from each of these products? A3
29. Write two examples each of Sexually Transmitted Diseases (STD) caused by
(i) Virus (ii) Bacteria
Explain how thq transmission of such diseases be prevented. (k)]
OR

(2) Describe in brief the functions of the following parts in human male reproductive system :
() Testes (ii) Seminal vesicle  (iii) Vas deferens (iv) Urethra
(b) Why are testes located outside the abdominal cavity?

Page 5of 9
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30. What are the different pathways by which break-down of glucose take place to provi i:t;;v:l‘iz}' .

in various organisms? Explain.

31. If the image formed by a lens for all positions of an object placed in front of it is-always erect ‘
and diminished, what is the nature of this lens? Draw a ray diagram to justify your answer. If \
the numerical value of the power of this lens is of 10 D, what s its focal length in the Cartesian
systea. ®

32. Explain why:

(8) stars twinkle
(b) planets do not twinkle.
(c) the sky appears dark instead of blue to an astronaut 3 -

33. A person has been advised by a doctor to reduce his sugar intake:
(i) Name the disease he is suffering from and name of the hormone whose
deficiency causes it.
(i) Identify the gland that secretes it and mention the function of this hormone. '
(ii)) Explain how the time and amount of secretion of this hormone is regulated in human
system. | ®
‘ OR J
Which part of nervous system controls reflex action? With the help of a diagram trace the
sequence of events which occur when we touch a hot object. Mention the part of the neuron that
acquires information and the form in which information travels,

)
SECTION D (5 x 3=15)

Question no. 34 to 36are long answer type questions.
34. (8) With the help an activity explain that hydrogen and oxygen are released when an electric

current is passed through water.
(b) What change in colour observed when white silver chloride is left exposed to sun light?
State the type of chemical reaction in this change. ) .
| OR

Page 6 of 9
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(a) What is the difference between displacement and double displacement reactions? Write

examples for these reactions, p

(b) Oil and fat containing food itcms are flushed with nitrogen .Why?
35. (a) A student suffering from myopia is not able to sec distinctly the objects placed beyond 5 m.
- List two possible reasons due to which this defect of vision may have arisen. With the help
of ray diagrams, explain:
(i) Why is the student unable to see distinctly the objects placed beyond 5 m from his eyes?
(ii) The type of the corrective lens used to restore proper vision and how this defect is
corrected by the use of this lens.
(b) If, in this case, the numerical value of the focal length of the corrective lens is 5 m, find the
Power of the lens as the new Cartesian sign convention. )
OR
(a) What is meant by the term ‘power of accommodation’? Name the component of eye that is
responsible for the power of accommodation.
(b) A security mirror used in a big showroom has radius of curvature 5 m. If a customer is standing
at a distance of 20 m from the mirror, find the position, nature and size of the image formed in
the security mirror. | .
'36. (é) Draw -excretory system in human beings and label the following organs of excretory
system which perform following functions: ,
" (i) Form urine
(ii) Is a long tube which collects urine from kidney.
(iii) Store urine umtil it is passed out.

(b) How is urine produced? Explain the process of urine formation. ®)
OR

(@) (i) Write one structural difference between the composition of artery and vein.
(i) Trace the movement of oxygenated blood in the body.

(iii) Write the function of valves present in between atria and ventricles.

(b) Why is it necessary to separate oxygenated and deoxygenated blood in mammals
and birds? :

" n
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SECTION E (3x4=12) Read the case carefully and

. d questions. ’
The following questions arc source-based/ case based q .

answer the questions that follow. 1 <t i coven colours that is called dispersion of
37. When a ray of light incident on a prism it will split in - fces which ar inclined to each
light. A prism is a transparent refracting body bounded by plan i through a prism, it
other at a particular angle called angle of prism.. When & ey of l le from its original path.
suffers refraction twice and hence the ray deviates through a certain ang'e )

The angle between the incident ray and emergent ray is called angle °_f deviation.

(&) For which colour, the angle of deviation is minimum? @ .
() When a white light falls on prism, the ray at its surface suffers: @ ‘
(A) Refraction only (B) dispersion only (C) deviation only (D) all of above
() Whatis the cause of dispersion of ight? @
OR
(¢) Define Spectrum of Wwhite light & write the colour of spectrum in ascending order with respect
to wavelength, V)

from the lichen plant. Some indicators are Prepared artificially, For example, methyl orange and {\)

WWW
Litmus Red . - Blue
Methyl orange ' Pinkish red A —
Phenolphthalein —} Colourless Pink

& &

Page 8 of 9
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(a) Give two examples cach of natural and artificial indicators.

(b) An aqueous solution tums red li

(1)

tmus solution bluc, Excess addition of which

solution would reverse the change - ammonium hydroxide or hydrochloric acid? 1))
(c) What will be the change in colour when a few drops of phenolphthalein is added

to a solution having pH 8.5 ? 2)

OR
(c) What are universal indicators? @
39. All the reproductive methods of living organisms are proadly categorized into tWo0 types :

1. Asexual reproduction and 2. Sexual reproduction
Asexual reproduction involves the participation of a single parent without the formation of
gametes, fertilisation and transfer of genetic material. This method is a common means of
rapidly increasing offsprings under favorable conditions.

(a) Name the type of fission that occurs in Leishmania and Plasmodium . Q)

er asexual reproduction. ()

(b) Write one advantage of sexual mode of reproduction ov

(c) Give reasons why:
(i) Colonies of yeast fail to multiply
¢ do not grow on a dry slice of bread.
‘'OR
() Name the filamentous structures a student could identify
a pond that appeared dark green. How do these or,

(ii) Rhizopus individual

k¥
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in water but multiply in sugar solution.

)

when he collected water from

ganisms multiply? Explain.
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o UTHTY] St FRr&ror ST
6‘ Atomic Energy Education Society

Taf® AT / Periodic Test-II (2024 - 25)
& /Class : X 3rafRiburation :3 Hours

fawq/Subject :Social Science R aw 3{dH/Maximum Marks :80

T fAde/General Instructions:

® This question paper comprises Five sections — A,B,C,D,E and F. There are 3 questions in
this question paper

e Section A- Questions from serial number 1 to 20 are MCQs of 1 mark each.

e Section B —Question no 21 to 24 are Very Shori Answer Type Questions, carrying2 marks

c each. Answer to each question should not exceed 40 words

e Section C - Question no 25 to 29 are Short Answer Type Questions, carrying 3 marks each.
Answer to each question should not exceed 60 words

e Section D - Question no 30 to 33 are long Answer Type Questions, carrying 5 marks each.
Answer to each question should not exceed 80 words.

e Section E- Question no 34 to 36 are case based questions with four sub questions and are of
4 marks each

e Section F - Question no 37 is map based carrying 5 marks

e There is no overall choice in the question paper. However, an internal choice has been
provided in a few questions. Only.one of the choices in such questions has to be attempted.

e In addition to this, separate instructions are given with each section and question, wherever

necessary.
’ SECTION-A
(MULTIPLE CHOICE QUESTIONS) (1x20=20)
.:’ 1. From which of the following countries Giuseppe Garibaldi belonged to? (1 mark)
(@) Austria ' (c) Italy
() Greece (d) Spain

2. Two Statements are given below. They are assertion (A) and Reason (R). Read both the

statements and choose the correct option. (1 mark)

Assertion (A): The most serious source of nationalist tension in Europe after 1871 was Balkan.
Reason (R): A large part of the Balkan was under the control of Ottoman Empire.

(2) Both (A) and (R) are true and (R ) is the correct explanation of (A)
(b) Both (A) and (R ) are true but (R ) is not the correct explanatior. of (A)
©  (A)is true but (R) is false.

. _(d) " (A) is false and (R) is true.
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3. Amange the following cvents in chorological order and chosc the correct option from the

following: (1 mark)
1. Treaty of Constantinoplc II. Dcfeat of Napolcon
111 Unification of Italy IV. Unification of Germany
(@) L1, IV and I () IL, I, I and IV
(¢) I, ITV and Il (d)IV,], Ml and I
4. Read the given statements and choose the correct option with regard to Rabi cropping season
from the following, (1 mark)

1. Rabi crops are sown in winter,

2. Sown from October to December and harvested from April to June.

3. Important crops are Maize, Cotton and Jute.

4. Punjab, Haryana, Uttar Pradesh are important for the production of wheat.

(@ 1,3and 4 (b) 2,3 and 4
(c) 1,2and 4 (d) 1,2,and 3.
5. Identify the soil with the help of the following information. (1 mark)

e It develops in area with high temiperature.
* Itis the result of intense leaching due to heavy rain.
e Humus content is low.

(a) Arid Soil ' (b) Yellow Soil
(c) Laterite Soil (d) Black Soil
6. Which of the following term refers to the belief in and advocacy for the social, political and
economic equality of women? _ (1 mark)
(a) Patriarchy (b) Matriarchy
(¢) Socialist (d) Feminists.
7. Per capita income refers to . (1 mark)
(a) Whole income of the country (b) average income of the country
(¢) Average Income of an individual (d) income of the rich people -
8. Which of the following was the primary objective of Belgium to form the separate government in
Brussels? (1 mark)
(a) Promoting cultural events. (b) Managing international relations.
(c) Enforcing local laws (d) Ensuring Linguistic accommodation.
9. Production of a commodity, mostly through the natural process is an activity in sector.
(1 mark)
(a) Tertiary sector (b) Secondary sector
(b) Information sector . (d) Primary sector
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10, Swppose, the monthly income of the family members i aq fallows reapestively: (1 mark)

Mother- Rs, $0,000/- Father- Rs. 40,000/ Son- Rs. 20,000 Daughter- Ra, 20,000/
The average income of the family would be:

(a) Rs. 32,000/- (b) Rs. 30,000/-
(c) 32,500/- (d) 33,000/-
I1. Which onc of the following is an example of organised scctor activitics? (1 mark)

(@) A farmer irrigating his ficld

(b) A handloom weaver working in her housc,

(¢) A hcadload worker carrying ccment,

(d) A teacher taking classcs in a government school

12, Which one was the rcason for calling off ‘thc Non-Cooperation Movement’ by Gandhi? (I mark)

(@) Pressure from the British Government (b) Second Round Table Conference.
(¢) Chauri- Chaura incident (d) Gandhi’s arrest.

13. Arrange the following events in the correct sequence: (1 mark)

1. Mahatma Gandhi returned to India from South Africa.

2. Congress gave the support to Khilafat inovement.
3. Dandi March.

4. Mahatma Gandhi travelled to Champaran in Bihar to inspire the peasants to struggle
against the oppressive plantation system.

(@ 1,423 (b) 2,3,4,1
(©)4,23,1 (d)2,1,4,3
14. Assertion- Alluvial soil is ideal for growth of paddy, wheat, cereal and pulse crops.
Reason- Alluvial soil is well known for its capacity to hold moisture. (1 mark)

(2) Both assertion and reason are true and reason is the correct explanation of assertion.

(b) Both assertion and reason are true but reason is not the correct explanation of
assertion.

(¢) Assertion is true but reason is false.

(d) Assertion is false but reason is true
15. Disguised unemployment means a situation where people are : (1 mark)

(a) Unemployed

(b) employed but earning less

(c) Seems to be employed but in reality, not employed
(d) Unemployed for a short period of time

16. Identify the kind of administration system: (1 mark)

It consists of two level governments. One level of government is for the whole country and
another for states, USA is known for the oldest country running this system successfully.

(a) Unitary (b) Presidential government
(c) Federal (d) None of these.
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17. Assertion: India is a secular state. . opagate any religion
Reason: Constitution gives freedom to everyone to profess, practice and propag

(1 mark)
without prejudice or any discrimination,

. lanation of
(2) Both assertion and reason are correct and reason is the correct exp
assertion. ion of
. ono
(b) Both assertion and reason are true but reason is not the correct explanati
assertion.

() Assertion is true but reason is wrong.
(d) Reason is true but assertion is wrong.

18. Which one of the following is not a developmental goal for the landless rural labourers? (1 mark)

(a) Many days of work and better wages.

(b) Local school is able to provide quality education for their children.
(©) There is no social discriminaticn.

(d) They cannot become leaders in the village.

2

15. Which one of the following pairs is correctly matched? (1 mark)
(@) Primary Sector- Money lender. (b) Secondary Sector- Priest
(¢) Tertiary Sector- Bank " (d) Manufacturing Sector- Gardener.

20. Which of the following statement is correct. (1 mark)

(@) Service sector contributes more than half of the GDP of India.

(b) The scope of attracting tourists is limited as there is hardly any place of tourist
attraction in India.

(¢) As the economy grows, first service sector grows and then agriculture and industrial

sector grows.
(d) None of the above

o SN

SECTION -B
(VERY SHORT ANSWER TYPE QUESTIONS) (2x4=8)

21. Suggest any two measures for the conservation of Forest. (2 marks)
OR a
Suggest any two measures for the conservation of wild life.
22. Why is power sharing desirable? Explain.

(2 marks)

23. Differentiate between public sector and private sector, (2 marks)

24. Bricfly explain the idea of Satyagrah according to Gandhiji? (2 marks)
SECTION-C

(Short Answer type Questions) (3x5=)

25. Describe the various step that are involved in planning? (3 marks)

26 (a) Write a note on Jallianwala Baug massacre. (3 marks)

OR
(b) Which were the earlier political agitations of Mahatma Gandhi in India?,
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. 3 marks)
ave be i i |

Cn raised againgt multipurpose valley projects? Explain any three
are the factorg responsible for the searcity of water

in India? 3 marks)
29. What were the Majoritarian Measures taken in Srilanka 10 establish Sinhala supremacy? ((3 marks)‘
SECTION-D
(LONG ANSWER TYPE QUESTIONS) (5x4=20)
30. (a) Explain the process of unification of Germany. (5 marks)
Or

(b) Explain the process of formation of ‘United Kingdom of Great Britain’
. 31. Describe any five institutional ang techn

; ological reforms introduced b :
Interest of farmers after independence. Y the government in the

(5 marks)
32 (a) i)gegs;nbe any five steps taken by the Indian Government towards decentralisation of power in
o (5 marks)

r

you agree with this statement? Give reason in support of your answer, (5 marks)
SECTION-E
(CASE STUDY QUESTIONS) (4X3=12)

34. Read the given source and answer the questions that follow
This type of farming is still practiced in few Pockets of India. Primitive subsistence agriculture is
practiced on small patches of land with the help of primitive tools like hoe, dao and digging

sticks and family/ community labour. This type of farming depends upon monsoon, natural
. fertility of soil and suitability of other environmental conditions to the crops given.

The main feature of commercial farming is the use of higher doses of modemn inputs,
e.g. High yield variety seeds, chemical fertilizers, insecticides and pesticides, in order to
obtain higher productivity. The degree of commercialisation of agriculture varies from one
region to another. For example, rice is a commercial crop in Haryana and Punjab but in Orissa it

is a subsistence crop.
34. A. Subsistence farming use __kind of tools for farming, (1 mark)
34. B. What does commercial farming use in order to obtain higher productivity? (1 mark)
34. C. Write down any two differences between subsistence farming and commercial farming,

(2 marks)
35. Read the given source and answer the questions that follow

Communalism was and will continue to be one of the major challenge to democracy in our
country. The makers of our constitution were aware of this challenge. Tt_lat is why.tt.ley choose
the model of a secular state. This choice was reflected in several constitutional provisions. There
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36.

37

. ot give any SpCClal status to any
is 1o official religion for the Indian state. Our constitution does not gt
religion. jeties, occupations are passed o
All societies have some form of division of lfibour. In mostfsocna‘:tfe:l,li s,cg:la)s te System is 2 clage
from one generation to other. Caste system is an extreme form based on exclusion of ang
structure  which is determined by birth. Caste system Y;_as t to the inhuman practice of
discrimination against the outcaste groups. They were su Jeg BR. Ambedkar advocated aug
untouchability. That’s why leaders like Jotiba Phule, Gandhiji and B.
worked to establish a society in which caste inequalities are absent.

(1 mark)
35. A. What is the basic principle of secular state? (1 mark)
35.B. What do you mean by caste system?

35.C. Wnh

: : : ities? (1 mark)
0 advocated establishing a society with caste inequalities?
35.D. Name any two social reformers that worked for the upliftment of untouchables. (1 mark)

Read the given Source and answer the questions that follow
A developed country is a highly industrial growth oriented country where quali.ty of life is high,
presence of developed €conomy and advanced technology. While the developing countries are .

those that are i either pre industrialization or in industrialization process. These economies are
agrarian form of economy and there

ices such as entertainment, finance a}nd
based activities like of Information
areas of consulting services etc, There is no all-

comprises of Imowledge
technology, research and development as we] as

agreed definition of 3 developed country.

36. A. What do you understand by the term PEr capita income? (1 mark)
36. B. What is the most important attribute to compare development of the countries? (1 mark)
36. C. Differentiate between development ang growth? (2 marks)
SECTION-F ‘
(MAP SKILL BASED QUESTIONS) (1x5= A

(@) The place whe

re Mahatma Gandhj broke the Salt Law
(b) The place whe

re Session of Indian National Congress was held in 1927

(B) On the same outline map of India, locate and labe] any three of the following with Suitable
symbols:

(@) Sardar Sarovar dam
(b) Hirakud Dam

(c) Mark the state with Mountainous soil
(d) Mark the state which is the largest producer of tea
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